IPRenewal NPEmails

From: Dolansky, Robert J <RDolans@entergy.com>

Sent: Friday, April 29, 2016 9:58 AM

To: Floyd, Niklas

Subject: [External_Sender] FW: Extra screen shots for Baffle Bolts
Attachments: Screen Shots IPP BFB UT.docx

From: Goodman, Matthew A [mailto:goodmama@westinghouse.com]
Sent: Thursday, April 28, 2016 3:31 PM

To: Allen, Robert E; Dolansky, Robert ]

Subject: RE: Extra screen shots for Baffle Bolts

Attached is the document Pat pulled together, showing the screen shots of the bolts you requested. The left side is the
calibration bolt to help compare to the results on the right hand side.

Let me know if you need anything else.

Regards,
Matt

From: Allen, Robert E [mailto:RAllen5@entergy.com]
Sent: Thursday, April 28, 2016 1:36 PM

To: Goodman, Matthew A; Dolansky, Robert ]
Subject: RE: Extra screen shots for Baffle Bolts

Matt,
The bolt & plate number listed below are correct.

Thanks for your support,
Bob A.

From: Goodman, Matthew A [mailto:goodmama@westinghouse.com]
Sent: Thursday, April 28, 2016 12:46 PM

To: Dolansky, Robert J; Allen, Robert E

Subject: Extra screen shots for Baffle Bolts

Bob,

| will get Pat working on the screen shots of all 10 channels for the following bolts.

Bolt # Plate #

E-29 8R
E-68 20
A-12 4

E-71 21

E-2 1R




Regards,

Matt Goodman

Project Manager

| —
ZWeSDVNe
i Westinghouse Ebectric Companmy
Office: (724) 722-6037
Mobile: (724) 689-6596
Fax:  (724)722-5830

This e-mail may contain proprietary information of the sending organization. Any unauthorized or improper disclosure, copying, distribution, or use of the contents
of this e-mail and attached document(s) is prohibited. The information contained in this e-mail and attached document(s) is intended only for the personal and
private use of the recipient(s) named above. If you have received this communication in error, please notify the sender immediately by email and delete the original
e-mail and attached document(s).

This e-mail may contain proprietary information of the sending organization. Any unauthorized or improper disclosure, copying, distribution, or use of the contents
of this e-mail and attached document(s) is prohibited. The information contained in this e-mail and attached document(s) is intended only for the personal and
private use of the recipient(s) named above. If you have received this communication in error, please notify the sender immediately by email and delete the original
e-mail and attached document(s).



Hearing Ildentifier: IndianPointUnits2and3NonPublic_EX
Email Number: 5864

Mail Envelope Properties (ECCFBB6589456C4185C63115574A08796B388351)

Subject: [External_Sender] FW: Extra screen shots for Baffle Bolts
Sent Date: 4/29/2016 9:57:42 AM

Received Date: 4/29/2016 9:58:24 AM

From: Dolansky, Robert J

Created By: RDolans@entergy.com

Recipients:

"Floyd, Niklas" <Niklas.Floyd@nrc.gov>
Tracking Status: None

Post Office: jdexmetsp004.etrsouth.corp.entergy.com

Files Size Date & Time
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BOLT A-012, CHANNELS 1-3
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Ojzl@l | ¢ [r|y] fm] m[a] 4] N Oj@l@l o f|r[y] fm] m[a]4]of X N
I Chan 1- A-Scan - 30 Shear PE: Cal_In_NN1_06 [ [@][=] I Chan 1- A-Scan - 30 Shear PE: IPP_A 012 02 EEI=)
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BOLT A-012, CHANNELS 4-6
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BOLT A-012, CHANNELS 7-10
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Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 41.0+12.0 db, DAC Inactive
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2
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Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 41.0+12.0 db, DAC Inactive
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2
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Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive - Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive -
Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 @ Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 L4
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Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.0+12.0 db, DAC Inactive
gitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 [

Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 3 Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Di L3
‘AMP Zb ‘ AMP Zb
90--03——M—————(—F+-——— — — — — — — — — — — — — — — — -0 —— | — — = — — — — — — — — — — — — — —
SRR "DV WY, " MMMMWMMW | PR W atasmn L s o 'WMWMNMIMJMAM &
[xb 0.000 yb0.00 [zb0.000 |Amp22.0 |Sweepl Ascanl MPL 65 4 xb0.000 |yb 0.00 zh 0.000 Amp 192 Sweep 1 Ascanl MPL 65 4
Ready [H000-000%, V 000-000% [xt 0.00,yt 0.00,zt 1.74 /Mll|Ready [H000-000%, V 000-000% |xt 0.00,yt 0.00,zt 0.00 4

Calibration Bolt NN1

Bolt A-012



BOLT E-002, CHANNELS 1-3
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BOLT E-002, CHANNELS 7-10
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[x60.000 [yb0.00 [z60.000 |Amp100.0 [Sweepl |Ascanl  |MPL66

N\

=]E=]

! Chan 8 - A-Scan - 30 Shear PC: Cal_In_NN1_06

! Chan 8 - A-Scan - 30 Shear PC: IPP_E_002_02

>

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive -

Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 3@ Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4
‘AMP AMP Zb
7~~059 ————————————————————————— 125- 081 — — —|— — — — | e e
) S Y .mm MwManMhAu4wMMﬁmmﬁ aianAdian | . . Lm.....f.._MMW.-MuMLAMMAM-A u
xb 0. 000 yb 0 00 zb 0000 [Amp239 [Sweepl Ascan1 MPL 67 Y xb0000 |yb000 |zb0.000 Amp86 |Sweepl Ascan1 MPL 67 4
I Chan 9- A-Scan - 30 Shear PC : Cal_In_NN1_06 o @ |[= I Chan 9- A-Scan - 30 Shear PC : IPP_E_002_02 o |[@]|[=
- Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 42.0+12.0 db, DAC Inactive -

Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 42.0+12.0 db, DAC Inactive
Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 K
I

Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 L4

n
AMP Zb IAMP Zb
86— 077 — — | — — T e e e e e e e e 13.7- — 069 — — e T T T T T T T T e e e e e e e e
POV YRRV, 19TV ) FERTIRO PP Py TR eToveRgl | | b el ora b MM;MMM&WMLMMM
xb0.000 |yb0.00 |zb0.000 |Amp100.0 Sweepl Ascanl MPL 59 4 xb 0.000 yb 000 [zb0.000 Amp 100.0 Sweep 1 [Ascan1 [MPL 59 4
B Chan10- A-Scan - 30 Shear PC : Cal_In_NN1_06 ol -® === I Chan10 - A-Scan - 30 Shear PC : IPP_E_002.02 o |[@]=
Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.0+12.0 db, DAC Inactive - Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.0+12.0 db, DAC Inactive -
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 B Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 (4
‘AMP Zb AMP Zb
9.0 —0.63 — — —_———t Y — — — — — — — — — — — — — 122- 078 — — —|— — — — e e e e e e e e e e e e
i a0 bl st D s ML i e AIA bk A TR W &MMM@MMMMMM@M v
[xb 0.000 yb 0.00 [zb0.000 Amp 220 Sweep 1 Ascanl MPL 65 4 xb0.000 |yb0.00 [zb0.000 Amp 188 Sweep 1 Ascanl  [MPL65 4
Ready [H000-000%, V 000-000% |xt 0.00,yt 0.00,zt 0.00 /liReady [H000-000%, V 000-000% [xt 0.00,yt 0.00,zt 0.00 4
Calibration Bolt NN1 Bolt E-002



BOLT E-29, CHANNELS 1-3

[Z272ragon Ansiysis Version 644 for 205 - lecan| oC=3e ] 23] Paragon Analysis Version 6:4:4 for 2 =llelx
File Edit View Window Help File Edit View Window Help

D@ 2| [t o] m[a] 4[5 N D@ 2| F[t| o] m[a] 45N

M Chan 1- A-Scan - 30 Shear PE: JCAL IN_NN1_01.utr (=@ =] ‘ M Chan 1- A-Scan - 30 Shear PE: IPP_E_029_02) [e[@][=]

Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 23.0412.0 db, DAC Inactive »

Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 23.0+12.0 db, DAC Inactive -

L0
AMP
9.8

Pulser:1 Bipolar, +80 -95 Volts, 70 ns ,

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2

37.6

Pulser:1 Bipolar, +80 -95 Volts, 70 ns ,

|Eb|1
0.69

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 J

\AMMML.M. ot MMMMAMAM.& e s Wi ™

xb0.000 |yb0.00

MMMM.M-.‘M.MM&-M.A.NAM"W Y

xb 0.000

¥b0.00

Mm.n

zb0.000 Amp314 [Sweepl

J ARV | ,m.nMMMWMMm.M.....MM %

Ascanl MPL 50

4

xb 0.000

zb0.000 |Amp100.0 Sweepl Ascanl MPL 51 4 xb0.000 |yb0.00 [zb0.000 |Amp100.0 Sweepl Ascanl MPL 51 4
B Chan 2- A-Scan - 30 Shear PE : JCAL_IN_NN1_01.utr [e[@] =] M Chan 2- A-Scan - 30 Shear PE: IPP_E_029_02) &=
Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 26.5+12.0 db, DAC Inactive - Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 26.5+12.0 db, DAC Inactive -
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 J Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 [
mi ml
AMP Zb AMP Zb
8.2 0.50 7.5 0.68

y¥b0.00

ua.\hﬁ..ﬁ.—u—u‘m4..1..........‘.._4.;_....;.......“..‘...._.(.,A....nu e 1 kMt A Ak bl s

zb0.000 |Amp24.7 |Sweepl Ascanl MPL 50 V

! Chan 3 - A-Scan - 30 Shear PE : JCAL_IN_NN1_01.utr

(o) o/

E Chan 3 - A-Scan - 30 Shear PE: IPP_E_029 02)

[e][®@] =]

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.0+12.0 db, DAC Inactive
Pulser:3 Bipolar, +80 -95 Volts, 70 ns ,

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2

i
AMP

57.6

T

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.0+12.0 db, DAC Inactive -
Pulser:3 Bipolar, +80 -95 Volts, 70 ns ,

Zb
0.67

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 J

L
NPT YUY | | ’ |

xb0.000 |yb0.00 [zb0.000 |Amp100.0 Sweepl Ascanl MPL 53 4 xb0.000 |yb0.00

Ready H 000-000%, V 000-000% [xt 0.00,yt 0.00,zt 0.00 lReady

zb0.000 |Amp100.0 Sweepl

LMJM\WMMAM&MAM‘MMJ <

Ascan1 MPL 53 4

H 000-000%, V 000-000% xt 0.00,yt 0.00,zt 0.00 2

Calibration Bolt NN1

Bolt E-029



BOLT E-029, CHANNELS 4-6

Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.5+12.0 db, DAC Inactive -
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 |
m
AMP Zb
13.7 0.62

M,Mwmmmmlw.wh FVPI

[x60.000 |yb0.00

544 for 2015 - JCAL IN = [[ENE >3 i [73) Paragon Analysis Version 6.4.4 for 2015 - 1 e
File Edit View Window Help — — File Edit View Window Help
D@ 2| F[t] (|| m[a]4]o[5 N D@ 2| F[ty] etfm|m[a] 4] 5N
8 Chan 4- A-Scan - 30 Shear PE : JCAL IN_NN1_01.utr (s)[@][=] I Chan 4- A-Scan - 30 Shear PE: IPP_E_029.02) o [@][=]

Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.5+12.0 db, DAC Inactive
Pulser:4 Bipolar, +80 -95 Volts, 70 ns ,
nnn

Zb l
0.67

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2

AMP
51.4

mMMMMuMWIM YT TURTEPIPUNRY S

[x00000 [yb000 [zb0.000 |Amp451 [Sweepl [Ascanl  |[MPLSS 4

[x60.000 |[yb0.00 [z60.000 [Amp459 [Sweepl |Ascanl  |MPLSS

260000 |Amp1000 [Sweepl [Ascanl  [MPL53 | 4 [x00.000 [yb0.00 [z60.000 |Amp1000 [Sweepl |Ascanl  |MPL53 4
! Chan 5- A-Scan - 30 Shear PC: JCAL_IN_NN1_01.utr o || =] = ! Chan 5 - A-Scan - 30 Shear PC : IPP_E_029_02) [al®][=
Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 32.5+12.0 db, DAC Inactive o Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 32.5+12.0 db, DAC Inactive -
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 (4 Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 3
AMP Zb AMP Zb
22.4 0.84 10.6 0.76
L M _— .J\.‘MMM.IMA&M--‘-AMMmﬂmluuh-..ﬁnﬁ = Mmoot e MMALM.MLM;M‘_MM;A»‘L“ <

V

(= [@]=]

! Chan 6 - A-Scan - 30 Shear PC: JCAL_IN_NN1_01.utr

B Chan 6- A-Scan - 30 Shear PC:: IPP_E_029_02)

[o]lo s

Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive - Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive -
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 4 Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 3
AMP Zb AMP Zb
12.9 0.84 16.9 0.81
L TP .-.u.-...MWMMW.A&“».MMMLM-MMMMMMM i . Ao et e s ke .....MAMWMMMH.MM.MM..M.ML. '
xb0.000 yb000 zb0.000 Amp788 |Sweepl Ascan1 MPL 55 4 [xb 0.000 'yb 000 [zb0.000 'Amp 84,7 vSweep 1 [Ascanl  [MPL5S | 4
Ready [H000-000%, V 000-000% [xt 0.00,yt 0.00,zt 0.00 eady [H000-000%, V 000-000% /xt 0.00,yt 0.00,zt 0.00 4
Calibration Bolt NN1 Bolt E-029



BOLT E-029, CHANNELS 7-10

o |[@] = [72] Paragon Analysis Versi [G=HEEIHL X,
File Edit View Window Help File Edit View Window Help
Di(@| 2| F|t[3] ctlm] ma] 4|5 N Diw(@| 2| r|t|Y] tfm]| m[a] 4|5 N
! Chan 7 - A-Scan - 30 Shear PC: JCAL_IN_NN1_01.utr o | = | =R ! Chan 7 - A-Scan - 30 Shear PC: IPP_E_029_02) o || = | =
Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 34.0+12.0 db, DAC Inactive - Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 34.0+12.0 db, DAC Inactive =
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 3 Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 (4

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 36.0+12.0 db, DAC Inactive
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2

AMP  Zb [ AMP  Zb
63--066 ———— — — — (- —— — — — — — — — — — — — — — — — 71--069 —————(—( — - — — — — — — — — — — — — —
. " o war INAA ik et AL AR eI AR A oimch s it R i . st s ai ™ | +.........,...@.,........_..,.-M.MAMMAMMMMM_*&M Y
x00000 |[yb010 [zb-0006 [Amp906 [Sweepl [Ascan2  |MPLS3 y [x00.000 [yb000 [260.000 |[Amp1000 [Sweepl |Ascanl  [MPL59 | Y
I Chan 8- A-Scan - 30 Shear PC : JCAL_IN_NN1_01.utr o @] = B Chan 8- A-Scan - 30 Shear PC: IPP_E_029_02)

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 36.0+12.0 db, DAC Inactive
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2

AMP Zb AMP Zb
67059 — — | 78— —075 — — —|— —
l PN VoI ) ALMW.A TR R CWE ORI U YTV SCPRRRTT Y TN WNE U P . PURURRRY SN P ASALAN A A A Bl it Dikd it AR It e dbasir A s
xb0.000 |yb 0.10 [zb -0.006 Amp 36.5 Sweep 1 [Ascan2 [MPLS8 4 [x60.000 [yb0.00 [260.000 |[Amp314 [Sweepl [Ascanl [MPL64 4
M Chan 9- A-Scan - 30 Shear PC: JCALIN_NNI_0L.utr o |[@][= A Chan 9- A-Scan - 30 Shear PC:: IPP_E_029_02) o [®@][=
Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive -
Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 \j Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 (4
fAMP Zb AMP  Zb
51— —0.69 — — e 98- 068 — — | — — — — - T T T T T T T T T T e e e e e
s IV ISP S S SOV ---~MM~AM.A¢M&.MAW.&..“-.M.‘“..a.. A | M ek et M e : s sl Lk s A DR e LMD A b I Db INAL i s
[x60.000 |yb010 [zb-0.006 Amp639 [Sweepl |Ascan2  |MPL58 4 xb0000 [yb000 [z60.000 |Ampl2 [Sweepl |Ascanl  |[MPL64 Y
I Chan10- A-Scan - 30 Shear PC : JCAL_IN_NN1_01.utr o| @] = M Chan10 - A-Scan - 30 Shear PC : IPP_E_029_02) o | &=
Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive - Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive -
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 3 Pulser 4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 (4
‘ AMP Zb
59- 074 — — —|— — — — |~ — — — — —— — —— —— — — — — — — — H ‘2“,,051777 ————————————————————————
VUSRI R DU SOP I PACP: SO0 SHPRTITY R VP NPT OF LY 1 U IINTAPREY VTV TY WPV U OF e nAIM\AMMMMMMWMA.MMMMMM v
x60.000 |[yb010 [zb-0006 Amp427 [Sweepl [Ascan2  |MPL60 4 xb0.000 |yb 000 zb0,000 [Amp00 [Sweepl |Ascanl  [MPL66 | Y
Ready [H000-000%, V 000-000% [xt 0.00, yt 0.10,zt -0.01 /Il Ready |H000-000%, V 000-000% [xt 0.00, yt 0.00,zt 0.00 4
Calibration Bolt NN1 Bolt E-029



BOLT E-068,

CHANNELS 1-3

015 n_NN RS Paragon AMWS Version 6.4.4 for 2015 - IPP_E ( et o
File Edit View Window Help File Edit View Window Help
D@l | f[t[] o] m[~[ 4[5 N D@l 2| F[r[V] ] m[~] 4], N
E Chan 1 - A-Scan - 30 Shear PE: Cal_In_NN1_09b [e][®@]=] E Chan 1 - A-Scan - 30 Shear PE : IPP_E_068_01 [o][®@] =]
Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 32.0+12.0 db, DAC Inactive - Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 32.0+12.0 db, DAC Inactive ~
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 4 Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 |
im | 1
AMP t
22.7
ey -t - | M -
MWMMWMMA; - AR A s s~
xb0.000 |yb-0.00 [zb-0.002 |Amp784 [Sweepl Ascan1 MPL 59 4 xb0.000 |yb-0.00 |zb-0.002 |Amp69.0 |Sweepl Ascanl MPL 59 4
M Chan 2- A-Scan - 30 Shear PE: Cal_In_NN1_09b [=][@]=] M Chan 2- A-Scan - 30 Shear PE: IPP_E_068 01 [=e][@][=]

Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 33.0+12.0 db, DAC Inactive
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2
m

MMMMM&MMMMAM. -

zb-0.002 |Amp81.2 |Sweepl Ascanl MPL 59

xb0.000 |yb0.00

4

Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 33.0+12.0 db, DAC Inactive
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 J

P R -

xb0.000 |yb0.00 MPL 59

Ascanl

L
zb-0.002 /Amp81.2 |Sweepl

E Chan 3 - A-Scan - 30 Shear PE: Cal_In_NN1_09b

[e][®@]=

J B Chan 3- A-Scan - 30 Shear PE : IPP_E_068_01 5

(RS

[E=8EE)

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 33.0+12.0 db, DAC Inactive
Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 |
m

AMP Zb
13.7 0.71

>

MWLMMMWMMM%M&.“MMMMM -

xb0.000 |yb0.00 |zb0.002 |Amp100.0 |Sweepl Ascanl MPL 62

V

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 33.0+12.0 db, DAC Inactive
Pulser:3 Bipolar, +80 -95 Volts, 70 ns ,
mm

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 J

|2
0.62

1 |

|
\ ” MI h
LMMMWMMMM.WM;

x00.000 |yb0.00 zb0.000 |Amp451 [Sweepl Ascanl MPL 62

AMP
100.0

Ready H 000-000%, V 000-000% xt 0.00, yt 0.00,zt -0.00

/|l Ready H 000-000%, V 000-000% |xt 0.00, yt 0.00,zt -0.00

//4

Calibration Bolt NN1

Bolt E-068



BOLT E-068, CHANNELS 4-6

MM‘MWM.M‘MWW.“JJJM-,.*.AM Y

[x60.000 [yb0.00

Lo B s 7] Paragon Analysis Ve o|E8] X
File Edit View Window Help File Edit View Window Help
Dl(a| 2| F[t[] tfm] m[~[4]] 5, ¥ D@ 2| F[t[] 2fm] m[~][4]] 5 ¥
B Chan 4 - A-Scan - 30 Shear PE: Cal_In_NN1_09b [e®@][= B Chan 4 - A-Scan - 30 Shear PE: IPP_E_068_01 [e®@][=]
Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.5+12.0 db, DAC Inactive = Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.5+12.0 db, DAC Inactive -
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4 Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4
m m L
AMP Zb AMP IZb
7.1 0.49 0.62

[ 74.1

i

I

MMM.MM.A%» -
4

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 38.5+12.0 db, DAC Inactive

Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 (9 ‘

[z00.000 [Amp812 [Sweepl [Ascanl [MPL59 4 [x00.000 [yb0.00 [z60.000 |Amp81.2 [Sweepl |Ascanl  |MPL59
B Chan 5- A-Scan - 30 Shear PC: Cal_In_NN1_09b [o]®@] = B Chan 5- A-Scan - 30 Shear PC : IPP_E_068_01 [o][@] =
z ‘

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 38.5+12.0 db, DAC Inactive -
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4

AMP Zb AMP Zb
38.4 0.85 24.3 0.70
WA . , A i s i AN AL et R Y I A s s AA AR i~
xb0.000 |yb000 (260000 |[Amp69.8 [Sweepl |Ascanl |MPL59 Y [x60.000 [yb000 [z60.000 |[Amp710 [Sweepl |Ascanl [MPL59 | Y
B Chan 6- A-Scan - 30 Shear PC: Cal_In_NN1_09b o) 5] =] B Chan 6- A-Scan - 30 Shear PC : IPP_E_068_01 (o ®][=
Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.0+12.0 db, DAC Inactive - Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.0412.0 db, DAC Inactive B
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4 Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4
AMP Zb AMP Zb
231 0.85 21.6 0.78
IR SO v ; LA S A A A s ™ _ s e e o o AN ML ARUA AN i ~
[x60.000 |yb0.00 [z60.000 [Amp463 [Sweepl Ascanl MPL 62 4 xb0.000 |yb0.00 |zb0.002 |Amp100.0 |Sweepl Ascanl MPL 62 4
Ready H 000-000%, V 000-000% [xt 0.00,yt 0.00,2t 0.00 /liReady |H000-000%, V 000-000% [xt 0.00,yt 0.00,zt 0.00 |
Calibration Bolt NN1 Bolt E-068



BOLT E-068, CHANNELS 7-10

[ Paragon Analysis Version 6.4.4 for 2015 - CalIn_NN1_08 LSS X [7) Paragon Analy ==l =
File Edit View Window Help File Edit View Window Help
~ A X ~ A X
D@ 2| F|t] o] m[a]4]of 5N Di(@| 2| F[tJ] tfm]m[a]4]of 5N
! Chan 7 - A-Scan - 30 Shear PC: Cal_In_NN1_09b =) \ = || =R E Chan 7 - A-Scan - 30 Shear PC: IPP_E_068_01 o l = \ =
Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 40.5+12.0 db, DAC Inactive - Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 40.5+12.0 db, DAC Inactive -
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 [ Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 L4
rAMP Zb rAMP Zb
98- 067 — — —|— — — — e 110--0589 — — —|— — — — - — —
| e s B R P fﬂlMWMMMM I , ._-.mgwa“..mmmﬂm.mm <
xb0.000 |yb000 |zb0.000 |Amp100.0 |Sweepl Ascanl MPL 69 4 xb0.000 |yb0.00 |zb0.000 |Amp100.0 |Sweepl Ascanl MPL 69 4
! Chan 8 - A-Scan - 30 Shear PC : Cal_In_NN1_09b o | @] = ! Chan 8 - A-Scan - 30 Shear PC: IPP_E_068_01 o|[@][=

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 43.0+12.0 db, DAC Inactive -
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 K

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 43.0+12.0 db, DAC Inactive
Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant.Indian Point 2

Pulser:2 Bipolar, +80 -95 Volts, 70 ns ,

AM
——————————————————— 165-—053———————
e . MMMMMMMmMWMMLm i I e bt R A L h Y
xb0.000 |yb0.00 zb 0000 Amp51 |Sweepl [Ascan1 MPL 67 4 xb0.000 |yb0.00 [zb0.000 [Amp63 [Sweepl Ascanl MPL 67 4
B Chan 9- A-Scan - 30 Shear PC: Cal_In_NN1_09b [l @)= I Chan 9- A-Scan - 30 Shear PC : IPP_E_068_01 = |

Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 43.5+12.0 db, DAC Inactive B Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 43.5+12.0 db, DAC Inactive B
Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4 Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4
AMP Zb AMP
9.0~ —0.67 — — —_—— 349’*055** ************************
[xb 0.000 yb0.00 |zb0.000 |Amp56.1 |Sweepl Ascan1 MPL 63 4 xb 0.000 |yb 0.00 [zb0.000 Amp 341 [Sweepl Ascanl MPL 63 4
8 Chan10- A-Scan - 30 Shear PC : Cal_In_NN1_09b o @] =] 8 Chan10 - A-Scan - 30 Shear PC: IPP_E_068 01 [S@]s=
Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.5+12.0 db, DAC Inactive - Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 39.5+12.0 db, DAC Inactive -
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 K Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 K
|
AMP Zb AM
55-—066 —— — ———+————— — — — — — — — — — — — — — 110-—078——— -t —
. NUEPPRRY VORI WHONTPe 99 W TR PRI WYY W BT IURI W ITY NPOTSOFVUTEIT I TR T SV P PT TR RO P/ g . _...._e‘MMMMmAMMLMM..Mm i
xb0.000 yb000 [zb0.000 Amp17.3 |Sweepl Ascanl MPL 78 4 xb 0. 000 yb 0 00 zb0.000 |Amp19.2 |Sweepl Ascanl MPL 78 4
Ready |H000-000%, V 000-000% /xt 0.00,yt 0.00,zt 0.00 /llReady |H000-000%, V 000-000% /xt 0.00,yt 0.00,zt 0.00 A
Calibration Bolt NN1 Bolt E-068



BOLT E-071, CHANNELS 1-3

Paragon Analysis Version 6.4.4 for 2015 - JCAL IN_NN1_0L.utr e o= S | 7] Paragon Analysis Versio S| [EN| 3T
File Edit View Window Help — — — — File Edit View Window Help

D|(a| | Fl|[V] etfm] m[a] 4] [5, N D|(@| 2| Fl|r[V] tfm]| m[a]4]|[5, N

B Chan 1- A-Scan - 30 Shear PE : JCAL_IN_NN1_01.utr [e®@] =] B Chan 1- A-Scan - 30 Shear PE: IPP_E_071_01 (o ®][=]

Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 23.0+12.0 db, DAC Inactive -
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2
Ly
AMP
9.8

e
AMP
20.8

Zb
0.50

Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 23.0+12.0 db, DAC Inactive
Pulser:1 Bipolar, +80 -95 Volts, 70 ns ,

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2

-

L.m,mmMMMmAmmwumwmm -

[xb 0.000

Bk B A o it e i i

yb092 [zb1.589 |Amp0.0 'Sweep 1 Ascanl MPL 1593 4 xb0.000 |yb0.00 zb0.002 Amp 100.0 |Sweep 1 Ascanl MPL 53 4
I8 Chan 2- A-Scan - 30 Shear PE : JCAL_IN_NN1_01.utr (o ®] =] I8 Chan 2- A-Scan - 30 Shear PE: IPP_E_071_01 [a][@] =]
Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 26.5+12.0 db, DAC Inactive - Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 26.5+12.0 db, DAC Inactive -

Pulser:2 Bipolar, +80 -95 Volts, 70 ns ,

mi
AMP
8.2

Zb
0.50

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2

Pulser:2 Bipolar, +80 -95 Volts, 70 ns ,

Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2

| L

M.Amuu._.(.m,mMMMWI—MA&.M.....“M %

MMWMAMAM“M. JI, TSRV Y SRR YOI SRR T

Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2
|

A..Mm
xb0.000 |yb-0.00 |zb0.005 |Amp100.0 Sweepl Ascanl MPL 55 4 xb0.000 |yb-000 |zb0.005 |Amp100.0 |Sweepl Ascanl MPL 55 4
B Chan 3- A-Scan - 30 Shear PE : JCAL_IN_NN1_01.utr [fole == 8 Chan 3- A-Scan - 30 Shear PE: IPP_E_071_01 [o][@] =]
Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.0+12.0 db, DAC Inactive - Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.0+12.0 db, DAC Inactive -

Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 J
m I

.MMMMWMMMMMM -

xb 0.000 Ascanl MPL 55 4 Xl

yb0.00

zb0.002 |Amp100.0 |Sweepl

Ready H 000-000%, V 000-000% |xt 0.00,yt 0.00,zt 1.83 4

Ready

J.MMM&MMMM*LMA.MWMMLkM <

zb0.002 |Amp100.0 Sweep 1 Ascanl MPL 55 V

A

b 0.000

y¥b0.00

H 000-000%, V 000-000% xt 0.00,yt 0.00,zt 0.00

Calibration Bolt NN1

Bolt E-071



BOLT E-071, CHANNELS 4-6

File Edit View Window Help

Diw(@| 2| ¢|tY] ctlm] ma] 4|5 N

File Edit View Window Help

Diw(@| 2| F || tfm]| m[a]s]o][ N

E Chan 4 - A-Scan - 30 Shear PE: JCAL_IN_NN1_01.utr o || &= ! Chan 4 - A-Scan - 30 Shear PE: IPP_E 071 01 o || & ] &8
Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.5+12.0 db, DAC Inactive - Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 31.5+12.0 db, DAC Inactive -
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 (4 Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 [

mn
AMP Zb
13.7 0.62

M;MMMM4MMMM.MM At~

lyb-087 (61502 [Amp1l2 [Sweepl | MPL1510 | y

xb 0.000

[x60.000 [yb0.00 [Ascan1 |MPL53

[zb0.000 vAmp 100.0 [Sweep1

WMo b e ot A b e ™

4

Ascanl
! Chan 5- A-Scan - 30 Shear PC: JCAL_IN_NN1_01.utr o & | &=

! Chan 5- A-Scan - 30 Shear PC: IPP_E_071 01

SE=]

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 32.5+12.0 db, DAC Inactive -
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (9

Zb
0.84

AMP
22.4

‘v. PO . .m,.....“MMAMAAJAMAWMAMuM‘..u.n,....;..J.'

xb0.000 [yb0.00 [z60.000 [Amp451 [Sweepl

Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 32.5+12.0 db, DAC Inactive
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2

[x60.000 [yb0.00 [z60.000 |Amp443 [Sweepl

AMP  Zb
55.3 0.83
e et WMMMAAMM&M,MM.m&J <

AMP
12.9

Zb
0.84

W

[xb0.000 [yb000 [zb0.000 |[Amp788 [Sweepl
Ready

P MMJMMMM‘M JRTIOR T ST Y Y SRPRNT WO T

[Ascan1  [MPL55 4

|H000-000%, V 000-000% |xt 0.00,yt 0.0zt 1.73 Y

[Ascan1  [MPL5S Y Ascanl  |MPL5S5 y

B Chan 6- A-Scan - 30 Shear PC: JCAL IN_NN1_01.utr o |[@][= B Chan 6- A-Scan - 30 Shear PC : IPP_E_071 01
Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive - Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive -
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantiIndian Point 2 (4 Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (9

AMP Zb
16.1 0.82

[x60.000 [yb0.00 [z60.002 |Amp100.0 [Sweepl |Ascanl [MPLSS

Ready |H000-000%, V 000-000% xt 0.00,yt 0.00,zt 0.00

™ ..,.....mﬂWmm‘mMu‘mﬂm_mmumm.. 52

4

2 |

Calibration Bolt NN1

Bolt E-071



BOLT E-071, CHANNELS 7-10

| Paragon Analysis ,/:.;','-mw@ 2015 - JCAL IN 01.ut O 5 o 071 e 52
File Edit View Window p — File Edit View Window Help
Dj@a| 2| F[tY] tlm] m[a]4]o] [N D@ 2| F[tY] o] m[a]4]=][F N
B Chan 7- A-Scan - 30 Shear PC: JCAL_IN_NN1_01.utr oo = B Chan 7- A-Scan - 30 Shear PC: IPP_E 071 01 o|[@]=
Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 34.0+12.0 db, DAC Inactive - Receiver:2 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 34.0+12.0 db, DAC Inactive -
Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 @ Pulser:1 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 3

AMP Zb
6.3 —0.66 — — —

AMP Zb
47--078 — — | — — — — | e e e e e
s P~ T T8 [T TOIPIRCTUNPING C WY YRR CPRVINRVRSU SIS, PR QPR 7 I O WP "

. sk b e o el annah IV ok Pt AN A, I AR Aot A o b s, ™ - v
[x60.000 |yb010 [zb-0.006 [Amp90.6 [Sweepl |Ascan2  |MPL53 4 [x00.000 [yb0.00 [zb-0.006 [Amp87.5 [Sweepl |Ascanl |MPL53 | 4
M Chan 8- A-Scan - 30 Shear PC : JCAL_IN_NN1_01.utr o |[@][= I8 Chan 8- A-Scan - 30 Shear PC: IPP_E_071 01 =) =
Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 36.0+12.0 db, DAC Inactive - Receiver:3 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 36.0+12.0 db, DAC Inactive B
Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (3 Pulser:2 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 (4
AMP Zb AMP Zb
6.7 — 059 — — e 6.7 062 — — _————t————— — — — — — — — — — — — — —
L PO RO ..Ak@w..h TR RPN UL ORI Y PO REPFRRE TN T TN SOPRr WP . SRR VORI SO ¥, SN GUT OV YT TTIPY VTN 1Y) O W 7 WC U ¥ VURUOPUVISIN WS Uy PN W TP VAU
xb 0.000 \[yb 010 |zb-0.006 |Amp36.5 |Sweepl |Ascan 2 MPL 58 4 [x60.000 |yb-0.01 [zb-0.009 |Amp100.0 [Sweep1 Ascanl MPL 55 4
! Chan 9 - A-Scan - 30 Shear PC: JCAL_IN_NN1_01.utr o| & =R ! Chan 9 - A-Scan - 30 Shear PC: IPP_E_071 01 o =3
Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive - Receiver:4 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 35.0+12.0 db, DAC Inactive -
Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, PlantIndian Point 2 ] Pulser:3 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 4
|
rAMP Zb |AMP  Zb
51— 069 — — - d- 7076 | T T T T T e T e e e e e e e e e e
PR daie mn A S rssarn sl ....mu‘u.mma.mm.mﬂ....m PPV < . RPN WARRRPY S0V VY. YUR PUPER WSO PR WO R FC e
[xb 0.000 yb010 |zb-0.006 |Amp639 ;'Sweep 1 Ascan 2 MPL 58 4 [x60.000 |yb-001 [zb-0.013 |Amp100.0 [Sweep1 Ascanl  [MPL51 4
! Chan 10 - A-Scan - 30 Shear PC : JCAL_IN_NN1_01.utr ol @] = ! Chan10 - A-Scan - 30 Shear PC: IPP_E 071 01 o || ® ]| =
Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive - Receiver:1 Pulse Echo, Low Pass 10.0 Mhz, High Pass 2.0 Mhz, Gain 37.5+12.0 db, DAC Inactive B
Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 B Pulser:4 Bipolar, +80 -95 Volts, 70 ns,  Digitizer: 50.0 Mhz, PDH 1, Recirs 1, Plant:Indian Point 2 4
AMP Zb AMP Zb
59— 074 — — —|— — — — 106-—073 — — —|— — e e e
| YNV GRS WP W7 PYRP: SR NRDPRTITY R VP MONRET PN L W IO PN T TV TP W S P O 1LY _.-..MMMWAMMJMAM 2
x60.000 |yb010 [zb-0006 [Amp427 [Sweepl [Ascan2  [MPL60 4 [x60.000 |yb0.00 [z60.000 [Amp808 [Sweepl |Ascanl  |MPL55 | y
Ready |H000-000%, V 000-000% |xt 0.00,yt 010zt -0.01 llReady |H000-000%, V 000-000% [xt 0.00,yt 0.00,zt -0.01 )
Calibration Bolt NN1 Bolt E-071



